Bi-annual Social Monitoring Report January 2017

PAK: MFF – Power Distribution Enhancement Investment Program (Tranche 2)

Prepared by Hyderabad Electric Supply Company, Sindh for the Asian Development Bank.

NOTES

- (i) The fiscal year (FY) of the Government of the Islamic Republic of Pakistan and its agencies ends on 30 June.
- (ii) In this report "\$" refer to US dollars.

This social monitoring report is a document of the Borrower. The views expressed herein do not necessarily represent those of ADB's Board of Directors, Management, or staff, and may be preliminary in nature.

In preparing any country program or strategy, financing any project, or by making any designation of or reference to a particular territory or geographic area in this document, the Asian Development Bank does not intend to make any judgments as to the legal or other status of any territory or area.



Re: Fw: Loans 2727-PAK/2972-PAK: PDEIP, Tranches 2 and 3- HESCO's Bi-Annual Social Monitoring Reports and Bi-Annual Environment Monitoring Reports 🗎 Jose Tiburcio Nicolas to: Liagat Ali Ehtesham Z. Khattak, Safia Shafiq, Zhang Lei, Muhammad Zeeshan, Cc

17/01/2017 10:15 PM

Dear Liagat sb,

Thanks for sharing the bi-annual social monitoring report (July-December 2016) submitted by HESCO for T2 and T3. I have reviewed both documents and endorse their acceptance and uploading on the ADB website for disclosure. Please advise us when these have been disclosed so we can reflect in our records.

I noted that for T3, regular site visits are being conducted, orientation on safeguards requirements to contractors are being made and restoration works for completed subprojects are being monitored. Efforts are also being made to ensure timely payment of compensation. For T2, most works and compensation have been completed, except for the Shikarpur-Larkana TL.

Please remind HESCO to continue close coordination and regular communication with the DPs (particulary the complainant in one of the subproject) is maintained to reduce risk of escalating complaints. Remind them too on the importance of expediting the compensation payments for Shikarpu-Larkana TL where civil works have been completed.

Regards,

Tito S. Nicolas

Senior Social Development Specialist (Safeguards) Pakistan Resident Mission North Wing Level 8, Serena Office Complex Khayaban-e-Suhrawardy, G-5, Islamabad, Pakistan email: jnicolas@adb.org +92 51 2600351-69/ 208 7300 ext 219 +92 305 9419662 (mobile)

Ashfaq Khokhar



Liaqat Ali	Dear Safia/Tito: Please review your respective a	13/01/2017 04:23:39 PM
From: To: Cc: Date: Subject:	Liaqat Ali/PRM/ADB Safia Shafiq/Consultants/ADB@ADB, Jose Tiburcio Nicolas/CWRD/AI Zhang Lei/CWRD/ADB@ADB, Ehtesham Z. Khattak/PRM/ADB@ADB 13/01/2017 04:23 PM Fw: Loans 2727-PAK/2972-PAK: PDEIP, Tranches 2 and 3- HESCO's Reports and Bi-Annual Environment Monitoring Reports	

Dear Safia/Tito:

Please review your respective area monitoring reports and provide your comments, if any and/or clearance for disclosure of the Regards. Liagat Ali, Project Analyst, Pakistan Resident Mission

Level 8, North, Serena Office Complex, G-5, Islamabad/Pakistan Tele: (92-51) 2600351-69/2087210 Fax: (92-51) 2600365-66/2087397-98 email: lali@adb.org.

----- Forwarded by Liaqat Ali/PRM/ADB on 13/01/2017 04:21 PM -----

From:	"Chief Engineer (Dev) HESCO PMU" <cedevhesco@gmail.com></cedevhesco@gmail.com>
To:	lali@adb.org
Date:	13/01/2017 04:19 PM
Subject:	Re: Loans 2727-PAK/2972-PAK/3096-PAK: PDEIP, Tranches 2, 3 and 4 - Submission of Bi-Annual
	Social Monitoring Reports and Bi-Annual Environment Monitoring Reports

Dear Mr. Llaqat Ali,

Enclosed please find Bi-Annual Environmental and Social Monitoring Reports under ADB Tranche-II & III in respect of HESCO for the period from July 2016 to Dec 2016 for review.

Regards

Chief Engineer (Dev), PMU,HESCO, Hyderabad

On Tue, Jan 3, 2017 at 3:00 AM, <<u>lali@adb.org</u>> wrote: Dear Chief Engineers:

Please urgently, but not later than 15 January 2017 submit the bi-annual social monitoring and bi-annual environment monitoring reports covering the period 1 July 2016 to 31 December 2016 for the above tranches for our review and comments. The reports should cover the comments sent to your staff on time to time basis.

Regards,

Liaqat Ali, Project Analyst, Pakistan Resident Mission Level 8, North, Serena Office Complex, G-5, Islamabad/Pakistan Tele: (92-51) 2600351-69/2087210 Fax: (92-51) 2600365-66/2087397-98 email: <u>lali@adb.org</u>.

Pof

POF -

Bi-annual Environment Tranche 2(July-Dec) 2016.pdfBi-annual Environment Tranche 3 (July-Dec 2016).pdf

14.1

Tranche III-Bi-annual Social Monitoring Report(July-Dec 2016).pdf

PDF

Tr-II Bi-annual Social Monitoring Report(JULY-DEC 2016).pdf

POF

HYDERABAD ELECTRIC SUPPLY COMPANY (HESCO)



SOCIAL SAFEGUARD MONITORING REPORT

For the Period: July - Dec, 2016

Project Number:

2727 – PK, Tranche – II [July – Dec 2016]

Islamic Republic of Pakistan

Power Distribution Enhancement Investment Project (PDEIP) – Tranche – II

Multi – Tranche Financing Facility (MFF)

Financed by the ASIAN DEVELOPMENT BANK

Prepared By: (Mr. Asif Sheeraz / Mr. Sulman) Environment & Social Safeguards Section – Project Management Unit Office of the Chief Engineer (Development) HYDERABAD ELECTRIC SUPPLY COMPANY (HESCO), Bungalow No.A-1 HESCO Power Wing Colony Hussainabad Hyderabad. Ph. No. 022-9260070 Fax No.022-9260 525 E-mail: cedevhesco@gmail.com www.hesco.gov.pk

TABLE OF CONTENTS

Ab	breviations	4
1.	Introduction of the Company	5
1.1.	About Project Management Unit (PMU)	5
2.	Brief Detail of the Project	5
2.1-	Objectives of the Project	6
2.2-	Scope Of Work	6
3.	Findings/ Observations of visited Project Sites	7
3.1	New 132kV Jacobabad-II Grid Station Site and Transmission Line	7
3.2	Conversion of 66 kV to 132 kV Sukkur Grid Station and Allied Transmission Line	7
3.3	Conversion of 66 kV to 132 kV Larkana Grid Station and Allied Transmission Line	7
3.4	Conversion of 66 kV to 132 kV Talhar Grid Station and allied Transmission Line	8
3.5	Second circuit Stringing of 132 kV T/L Shikarpur - Larkana	8
3.6	Second circuit Stringing of 132 kV Sanghar-Kandiari- MirpurKhas T/L	8
3 .7	Construction of Dadu-Meher-Larkana 132kV DC T/L (New) Transmission Line	9
4.	Compensation Status	10
5.	Social Safeguard Work Status	12
6-	Social Safeguard Awareness and Training	12
7-	Site restoration Of completed Sub-Projects	13
8-	Conclusion	13
An	nexure A : Reporting to the E&SS by the Contractor	14
An	nexure B: Land acquisition documents of Jacobabad II Grid Station	15
An	nexure C: Compensation Payments: Details of feed for Talhar Grid Station	25
An	nexure D: Compensation Payments Details of 132 kV Arain Road- Sukkur City Transmission Line.	28

Annexure E: Compensation Payments Details of 132 kV Dadu-Mehar-Larkana Transmission Line	. 29
Annexure F : Grievance Redressal Mechanism	. 34
Annexure G: Grievance Redressal Committee	. 35
Annexure H : Consultation Pictures	. 36

ABBREVIATIONS

ADB	Asian Development Bank
AH	Affected Household
APs	Affected Persons
EMP	Environmental Management Plan
ESM	Environmental & Social Monitor
E&SS	Environment & Social Safeguard
GoP	Government of Pakistan
GSC	Grid System Construction
HESCO	Hyderabad Electric Supply Company
km	Kilometer
km kV	Kilometer Kilo-Volt
kV	Kilo-Volt
kV LARP	Kilo-Volt Land Acquisition and Resettlement Plan
kV LARP MFF	Kilo-Volt Land Acquisition and Resettlement Plan Multi-Tranche Financing Facility
kV LARP MFF PEPCO	Kilo-Volt Land Acquisition and Resettlement Plan Multi-Tranche Financing Facility Pakistan Electric Power Company
kV LARP MFF PEPCO PMU	Kilo-Volt Land Acquisition and Resettlement Plan Multi-Tranche Financing Facility Pakistan Electric Power Company Project Management Unit

INTRODUCTION OF THE COMPANY

Hyderabad Electric Supply Company Limited; HESCO is a Public Limited Utility Company, established in 1998 under Companies Ordinance 1984 responsible for distribution of Electric Power within its territorial jurisdiction and presently serving around 0.9 Million customers (Domestic, Commercial, Agricultural, Industrial and others) in twelve Districts of Sindh Province.

1.1. ABOUT PROJECT MANAGEMENT UNIT (PMU)

To effectively plan, execute and monitor the Power Distribution Enhancement Investment Program (Tranche II), a Project Management Unit (PMU) has been established under Chief Engineer (Development) comprising of five sections i.e. Planning, Scheduling & Coordination, Procurement, Finance and Environment & Social Safeguard along with the Project Director (GSC) for physical execution of grid stations and transmission lines.

2. BRIEF DETAIL OF THE PROJECT

Existing conditions of the HESCO power distribution and transmission system are inadequate to meet rapidly growing demand for electrical power. To cope with this situation, the existing power infrastructure has to be improved and upgraded. The overall contribution of power infrastructure requires institutional arrangements, capacity building that support strategic management of the sector, planning and management of investments.

The basic information/ data about the loan are here as under:-

Loan Number: (ADB TA Loan No. 2727-PAK)

Project Title:- Power Distribution Enhancement Investment Program, Multi-Tranche Financing Facility PDEPMFF-Tranche-II

Borrower:- GOP/ HESCO

Executing Agency:-PEPCO

Implementing Agency:- HESCO

Location of the Project:- The Sub-Projects under Tranche-II are in Sanghar, Mirpurkhas, Shikarpur, Larkana, Sukkur, Badin, Dadu and Jacobabad Districts of Sindh Province.

2.1-OBJECTIVES OF THE PROJECT

HESCO through GoP has undergone a Project Financing agreement with Asian Development Bank for:

- 1. Strengthening the capacity of Power Distribution and Transmission networks.
- 2. To meet the increasing electricity demand in the selected areas more efficiently.
- 3. To upgrade the existing power infrastructure.

2.2-SCOPE OF WORK

There are 7 Nos. of projects under ADB Tranche-II. Detail is as under:

- 1. Construction of 01 No. of New 132 kV Grid Station and allied Transmission Line.
- 2. Conversion of 03 Nos. of Grid Substations from 66kV to 132kV and allied Transmission Line
- 3. Second Circuit stringing of 02 Nos. 132 kV Transmission Lines
- 4. Construction of 01 No. 132 kV Transmission Line

Overall the proposed MFF has been designed to address both investment and institutional aspects in electric power sector. Development objectives / project purpose will be fully achieved after completion of the proposed Sub-projects.

3. FINDINGS/ OBSERVATIONS OF VISITED PROJECT SITES

Findings/ Observations noted during the site visit. Its details are as follows:

3.1 NEW 132KV JACOBABAD-II GRID STATION SITE AND TRANSMISSION LINE

- The Sub-project is 100 % complete and energized in the month of September 2014.
- HESCO had purchased 8.3 acres of land from one landowner on voluntary sale basis against negotiated price for construction of new grid station. The purchase land was an empty dry patch for no constructive use since 6 years therefore no social impacts were associated with the construction of grid station. (Sale Deed attached in Annexure B).
- However, there were some potential social impacts associated with the construction of transmission line that passed through private farmland affecting crops. The compensation payment of foundation and stringing work was paid to all the affectees.
- There were no complaints received.

3.2 CONVERSION OF 66 KV TO 132 KV SUKKUR GRID STATION AND ALLIED TRANSMISSION LINE

- The sub-project is 100 % complete and energized in the month of August 2014.
- The conversion works were carried out totally within the boundary of the existing grid station without acquiring additional land so there was no potential social impact associated with this part of the subproject.
- The Transmission line consisted of 12 towers and 30 poles. Out of total 12 towers 8 towers are in private farmland. The compensation for all the foundation and stringing work for these towers has been paid. The details are given in chapter 4 and Annexure D.
- There were no complaints received.

3.3 CONVERSION OF 66 KV TO 132 KV LARKANA GRID STATION AND ALLIED TRANSMISSION LINE

A.

- The sub-project is 100 % complete and energized in the month of September 2014.
- The Grid station work was totally inside the existing grid land so no social issues were arisen.
- The transmission line consisted of 12 poles and 3 towers.
- The complete compensation payment has been paid in January 2015.
- There were no complaints received.

3.4 CONVERSION OF 66 KV TO 132 KV TALHAR GRID STATION AND ALLIED TRANSMISSION LINE

- The sub-project was energized in August 2014.
- The conversion work was carried out totally within the boundary of the existing grid station without acquiring additional land so there was no any social issue associated with this aspect.
- The compensation payments for the crop damage during the transmission line work were paid on time. (Annexure C)
- Overall the sub-project area community is satisfied by the benefits of this activity and there were no complaints received.

3.5 SECOND CIRCUIT STRINGING OF 132 KV T/L SHIKARPUR - LARKANA

- The sub-project is complete with stringing of 248 towers.
- The compensation payment is in process with the scrutiny of revenue record.
- Overall the load management situation has improved in the area and the community is over it.

1.5

3.6 SECOND CIRCUIT STRINGING OF 132 KV SANGHAR-KANDIARI-MIRPURKHAS T/L

- The sub-project is complete with stringing of 220 towers.
- The compensation payment is complete without any complaint.
- Public consultation meeting was carried out with general public, adjacent community at the Mirpurkhas Grid station and they gave positive views.

3.7 CONSTRUCTION OF DADU-MEHAR-LARKANA 132KV DC T/L (NEW) TRANSMISSION LINE

- The foundation work of 362 towers and 79 erection of towers has been completed and the compensation payments of 52 foundations have been paid.
- Training of the social and environmental aspects is being regularly conducted to the contractor's staff through meetings.
- Complaint registers have been placed at the project sites and community has been informed about it along-with Public information brochure. There is delay in compensation payment but in this month new cheques have been issued which will be disbursed shortly. (Annexure E)
- For the delay in the compensation payment Project Director (GSC), SEPCO has been regularly informed through continuous verbal and oral correspondence to make compensation payments on time.

ADB Pakistan Power Distribution Enhancement Investment Program Tranche-II Environment & Social Safeguard, PMU HESCO

4. COMPENSATION STATUS

			LA	RP(s) Stat	us TRA	NCHE-II	Till Dec 2	016		
						Revised	Com	ensation S	tatus	
Sr. No.	Sub Project No.	Sub Project Name	LARP Survey Period / Cut-off Date	Original LARP Submission	Revised LARP Submission	LARP approved by ADB	Foundation Stage	Erection Stage	Stringing Stage	Remarks
1	H-1	Conversion of 66KV Sukkur GS into 132KV along with Transmission Line	April, 2013	26/11/2009	30/04/2013		Done	N/A	Done	Foundation and stringing payments have been paid to all the affected household.
2	H-2	Conversion of 66KV Larkana GS into 132KV along with Transmission Line	May, 2013	14/12/2009	13/05/2013	May, 2013	Done	N/A	Done	Foundation and stringing payments has been paid to all the affected household.

ADB Pakistan Power Distribution Enhancement Investment Program Tranche-II Environment & Social Safeguard, PMU HESCO

3	Н-3	Conversion of 66KV Talhar GS into 132KV along with Transmission Line	Feb, 2013	15/12/2009	25/04/2013		Done	N/A	Done	Foundation and stringing payments has been paid to all the effected household.
4	H-5	New Jacobabad GS along with TL	June, 2013	25/07/2013	N/A	August, 2013	Done	N/A	Done	Having total 5 towers on private farm land. Foundation and erection work completed. Compensation has been paid to all the affected household.
5	H-6	Second circuit Stringing of Sanghar-Kandiari-Mirpur Khas 132KV T/L	Aprii, 2013	15/12/2009	28/06/2013		N/A	N/A	Done	Civil works have been completed and compensation is payments are also complete.
6	H-7	Second circuit Strining of Shikarpur-Larkana 132KV T/L	May, 2013	15/12/2009	30/05/2013		0	0	0	Civil works have been complete and compensation is about to be started
7	H-8	Construction of Larkana- Mehar-Dadu 132KV DC T/L (New)	Sep, 2014	15/12/2009	24/09/2014	October, 2014	52 affectees paid	0	0	Foundation work of 362 towers have been completed and erection of 79 towers completed.

5. SOCIAL SAFEGUARD WORK STATUS

Land Acquisition and Resettlement Plans (LARP):

(i) All LARPs and DDR Reports in respect of HESCO sub-projects under Tranche-II (both in English & Urdu versions) have been translated, typed/edited and uploaded/ displayed on HESCO official websites. (www.hesco.gov.pk) and at each sub-project site.

(ii) All the LARPs of subprojects had been revised/updated on actual basis for Tranche-II and the same were submitted to the Asian Development Bank for review.

(iii) Regular meetings with ESM of Dadu-Mehar-Larkana were held to reach out to the problems at site and fortnightly monitoring sheets were required from him (Annexure A).

(iv) Urdu version of Environmental Management Plan (EMP) after translation was provided to the Contractors and placed at each grid site during construction work and available at HESCO Website.

(v) Environmental & Social Complaint Register is made available on each active project site to record complaints of affected household / persons at each project site. All the complaints received are of late compensation payments and the same has been regularly apprised to the SEPCO authorities in written form and they have started issuing new cheques.

(vi) Grievance redressal committee has been constituted and documented procedure for grievance redressal is functional (Annexure G).

SOCIAL SAFEGUARD AWARENESS AND TRAINING.

On site/ on job trainings were arranged at the on the active site i-e Dadu-Maher-Larkana Transmission line sub-project regarding environmental issues, social issues, housekeeping, communicable diseases especially Dengue, Malaria, Airborne, Waterborne diseases & drugs, defensive driving, site restoration after the work and overall implementation of the Land Acquisition and Resettlement Plan (LARP) of the Tranche-II sub-projects. (Annexure H)

7- SITE RESTORATION OF COMPLETED SUB-PROJECTS

The completed sub-project sites have been visited to monitor site restoration. It was observed that all the completed sites have been restored. It was observed that as earlier communicated to the locals, they have used the land under the tower for agriculture purpose and do not have any issue with the restoration work. Pictures and statements at (Annexure H)

8- CONCLUSION

The main is the timely payment of the compensation to the affectees of the project and we are in continuous touch with SEPCO to make it faster. As of Dec 2016, HESCO has completed compensation at Talhar Transmission Line sub-project, Larkana Transmission Line sub-project, Jacobabad transmission line sub-project Sanghar-Kandiari-Mirpurkhas 2nd stringing transmission line sub-project and Sukkur transmission line sub. The compensation payment of all the completed sub-projects is complete. The Shikarpur-Larkana second stringing of transmission line and Dadu-Maher-Larkana transmission line compensation is in process. The Project Director SEPCO is asked to expedite the payment procedure.

.

ANNEXURE A : REPORTING TO THE E&SS BY THE CONTRACTOR.

Social Monitoring check list for contractors.

Project title:	Construction 132 kv TL Larkana-Mehar-Dadu Da	te: <u>31/12/2</u>	2016
Project location:	<u>Larkana-Mehar Lot-1</u> 1		
Name of contractor	Construction & Project Management Services		
Questions			
	nunity informed about the detailed e construction of grid station/transmission	√ Yes	No
3-Is the Grievan sub-project site?	ce Redressal Mechanism distributed in the ? ocument available at the Project Site showi	Yes	d pasted at the
5- How many T FOUNDATION	owers have been laid the foundation, erect ERECTION STR	ed and stringing INGING	g completed?
If yes then how	79 Isation payment started to the affected Hou many tower affectees have been paid? also been issued.	isehold (tower a Yes 52, WI	
7-ls the labor in other community	structed to keep the local norms and tradition	ons while enteri	ng villages and Yes
	•		
•	roject involve community labour or hired lab our involved? No	oour from outsic	de? Yes
10-Additional co	mments (if any)? No any		

ANNEXURE B: LAND ACQUISITION DOCUMENTS OF JACOBABAD II GRID STATION.

Repister No. 10,000 RS. PAKISTAN a ssiant SAND HOU 7. 11. 2009 Note Urgent fac Re- 400/-Alxhel Malie St. Mehar His Jumale four hunderet onte recovered ide receipt No;..... Dated Mote Urgent fee Rs: 400/ four hundered out Received Fecs as under 8 B. Not Presented in the Office of Copying fee ranmat for Zafar Ali .paring fee. Sub-Registe eating former and : e4 Zalar Al Bobiaro Min ro Zatar Sub Registrat, Jacobabad Sub Registrar, Jacobabad SALE DEED Andie

THIS INDENTURE made on this **2.3 W** day of December 2009 between Amnuddin sio Ali Navaz Golato, indult, muslim, (CNIC No. 43102, 67908 69-D, resident of Goth Ali Navaz Khan Golato, Taluka and District Jacobabad, hereinafter together with his heirs, successors-incinterest and as igns, where the context so required called the **VENHOR** of the one part - |X| > D

44 (2-17) (2-1) (2)

.

~ -like

Register No: 10,000 RS. PAKISTAN A Subartonie une annum santur -XXXIIII AXXIIII NTHOUSAND (1....) 25 17.11.2009 Atachil Malile % Mehar Ali Janvile ICO 1,45.700/-Shafiuk Rehman 02 - $X \ge D$ HYDERABAD LLECTRIC SUPPLY COMPANY (HESCO) Hyderabad through Mr. Abdul Malik Jamafi s/o Mehai Mi Jamafi, (CNIC No. 45403-9690740(3) Executive Engineer, Civil Construction Division (GSC) HJ-SCO Hyderabad. (hereinatter called the VENDEE) of the other part. Ancie 31 por Contd.....rop.p-3

803 Begister No: PAKISTAN 10,000 RS. Bub-Redistrat MMM - MMM .80 N THOUSAND R 25 17.11.2009 Abdul Maliks/ MeharAle Jamali ICD 1645,700/= VicuR-Reiman 1

- 03 -

WHEREAS the Vendor is the sole and exclusive owner of the propertyviz: agricultural land bearing revenue Survey No. 158 total measuring 09 acres and 02 ghuntas situated in Deh Mehrabpur. Taluka and District Jacobabad, out of which the Vendor hereby convey 08 acres and 12 ghuntas to Hyderabad Fleetric Supply Company Hyderabad, in full share theremafter referred to as the "SAID LAND").

At the 200 mail

Contd. . . On p. 01

A-alik

oan stan an si An yapi it also a second s Second s Stands Secure , All and a second s والمتعاولات والأعلاق والالتجار بالمتعاولات والمتعاولات والمعاولات and the second . an Electric and Sector



negister 190: ... 803 10,000.85 PARISTAN Sub-Registrar Jacobabed ada ana ana (1. 25 17. 11. 2008 Aladal Malle & Michael 410 Jamele JCD 1485, 7004. Martial Robinson

and as igns unto the Vendes all that piece of parcel of said 08 mores and 12 global of land out of revenue. Survey Nos, 158, situated in Deh Mehrabpur, Laluka and Darrer Jacobaisad, and more particularly described or defineated in the map or plan heigto annexed, together with all trees, prints, liberties, privileges, easements and appurtentine eswhatso, ser to the same, belonging or many way appertationing to and all the estate right title, claim or demand, of the Vendor and to and every part thereof TO HAVE AND TO HOLD the same unto and to the absolute use and benefit of the Vendee and hos successors and assigns in full proprietary right free from all encond-rances FOREVER

of GK

Cond complete

Andie

Begister No: 10.000 RS. PARISTAN Sub-Register Jacoba 7 (1....) DUSAND 17.11.2.001 25 Solut Malile S. Markar Ali grounde Astrue Rehnson -07-2. AND the Vendor hereby covenant with the Vendee that he has good right title and power to sell and convey the same to the Vendee, in minimal afore end, the from encumbrances and dispute of any nature and, that the Vendee may at all times hereafter peaceably and quietly possess and enjoy the same without any interruption, slaim or demand from or, by the Vendor of any person or persons lawfully or equitable chamine for or under him AND that the Vendor shall whenever reasonably so beguned execution net of And the constraints and do any such further act, is surface or things as may be deeped necessary by the Vendee Contd on p=08 - lite

	Register No:	
PARSTAN	10,0	00 RS
	Sup-Redistry sendone	
TEN THOUSAND RUPETS		
25 17.11. 2.001		
Abdyl Malik S/ Michar Ali Jamale		
25 17.11. 2.009 Abdul Malik S/, Mdur Ale, Jamali J. D. 1345, Teols A. Frick Rediman		
	Û8 -	

3. THAT it is also asseed by the Vender that the boundaries of san't had shall be restricted according to the convenience of Vendee as per survey measurements demarcation carried out by Director of Settlements, Survey & Land Records Surdi-Hyderabad / Survey Superintendent Larkana, alongwith representative of Vendee Executive Engineer, Crvif Construction Division (GSC) IESCO Hyderabad. In case any dispute arises as to the lownership of said hand or any part thereat, the Vender, doi't be solely responsible to muncdiately make all the consequent losses good to the Vendee.

Cond. On p. of

Anix

2. 3 r.

Register No: 895 10,000.85 PANISTAN SUD-Register = (1-, • • •) Missin Mathias 25 ret Akashi Madite St. Meharphi Tamate 5,700 Baffull Baismon 07.-·‡. THAT the Vendor further hereby covenants with the purchaser this the property under sale is tree from all the charges and encombrances of whatsoaver indusand is not sold out, mortgaged, exchanged or ailted to any one prior to this. If any mosfound to be incorrect the Vendor shall be responsible for the same 5 THAT the Vendor has today vise 23,12, 2009, handed over sugarit physical possession of said land at site to Afr. Shati an Refinan Domki, Sub-Division d Officer (Civil) GSC III:SCO Sukkar, official representative of the Vendee 1. 2. 3° Andin

Register No: PARISTAN 10,000 RS. Sub-Beggstrar Jacobana (1+,+++) المصيرة المريدة المحدودية وعراقة ne men in 25 2197 amade. 1. 1.1.4 - 10 -..... THAT the Vendee shall bear all the expenses pertaining to the G_{i} execution of this Sale-Deed and mutation of said and in the revenue (record in (avour of HESCO Hydernbad. \overline{t}_{i} THAT the said land, property is situated within the parisdiction of Sub- District and District Registration Jacobanad RE (AMIRUDDIN S/O ALI NAWAZ GOLATO -CNIC NO. 43102 - 6790830 - 1 - The Ka VENDOR (ABDUL MALIK JAMALI) Executive Engineer Civil Construction Division (GSC) HESCO HYD. VENDEE WITNESSES:

ANNEXURE C: COMPENSATION PAYMENTS: DETAILS OF FEED FOR TALHAR GRID STATION

	ÁHONE NO. 0223886552 FAX NO. 0223886471 2) (NO. PD/GSC/HESCO/HYD	42-46	GSC HESC T.M.KHAI	F THE PROJ CO C-9 NTPS N ROAD HY $2 \left(1 - \frac{1}{2} \right)$	S COLONY DERABAD	
aca by Sr.	arding payment af crops compens arded for crops campensation of (XEN T/L © Division GSC HESCO H Name & Fathers's . Name	ation the eff Concrete wa	tion-XV of Book o fectives land owner ork for 132KV Fee	r (an Individual ed Far Talhar T	ver (Revised 2 basis) the san /Line, prepare	007 of NTD action is hereb
No.	Of Lond Owner with NIC No.	S/No.	effected area in Ghunta.	crop per Ghunta.	compensa tion.	Amount (Rs.)
1.	Ahsan Ali Jatal S/o Muhammad Hashim Jatai NIC No. 41105-7721296–1 Mola Bux Khawaja S/o Bhale	TNa.01	Sugarcan-08	4800/-	38400/-	38400/-
<u>}_</u>	Dino Khawaja Nic No. 41105-5297881-5	TNo.02	Sugarcan-07	4800/-	33600/-	33600/-
3	Mola Bux Khawaja S/o Bhale Dino Khawaja NIC No. 41105-5297881-5	TNa.03	Sugarcan-08	4800/-	38400/-	38400-
	Nizar Ali S/o Foiz Muhamad Khawoja NIC No. 41105-9185884-3	TN0.04	Sugarcan-08	4800/-	38400/-	38400/-
15,12	Nigor Ali Khawaja S/o Nawoz Ali Khawaja Nic Na.41105-8290014-1	TNo.04 (Passage)	Sugarcan-05	4800/-	24000/-	24000/- 1
6	Msh Shohnaz D/o Allah Dino Khawoja NIC No. 41105-8674676-0	TNo.05	Sugarcan-08	4800/-	38400/-	38400/- (
DA/ OS Ni along	,		IESCO Hyderabac	I, from Mukhti	ar Kar (Rever	nue) Talhar in
	CC TO:			GSC HESCO	D HYDERAE	TAD
·	2. The Project Manage 3. The XEN T/L © Divi along with 06 Nos.	er PES (Pvt) Lt Ision GSC HES original vouch ger (C.A) GSC	J HESCO Hyderabad d HESCO Power Wir CO Hyderabad, w/i Iers & ollied relevan C HESCO Hyderobad Ibad.	ng Colony Hyd. r ta his letter Na. t – supparting da	. mentioned abo ocuments. >	¥ 6,
	CC-FF Talhar-24713 (A J)		-1-			

HESCO HYDERABAD ELECTRIC SUPPLY COMPANY Dm LEP 55 Office of the Project Director GSC HESCO Water Wing Colony Hussainabad Hyderabad Se alight Fax No. 022-9260124 Email: pdgschescollyd@hotmail.com Phone No.022-9260123 No. PD/GSC/HESCO/HYD//B27-30 01 104/2014 Dated: $\leq 2/2$ OFFICE ORDER. 4.64 As per clause 15.18 of Section-XV, S.No-III of book of Financial power (Revised-2007 of NTDC) regarding payment of Crops Compensation the effectives land owner (on individual basis) the sanction is hereby accorded for Crops Compensation of Erection & Stringing work for 132KV Eeed for Talliar Transmission Line, prepared & submitted by XEN T4. Division GS0 HESCO Hyderabad, vide his letter No.979-80 Dated, 21,03,14, and the second Total S# Name and Fathers Name of T/No. Name Rate of Crop Crop wise compensation Amount Land Owner with NIC No. S/No. effected area per Gunta RS: in Gunta 38400. 38400/-Mr. Ahsan Ali Jatoi - S O 01-F-S Sugarcan-8 4800/-1 Muhammad Hashim Jator NIC NO.41105-7721296-1 Mr. Hassan Ali S'O Imani 1-2-S(P) 4800 24000 -24000 -Sugarcan-5 7 Dino Laghari NIC NO:41105-2649855-1 Mr. Azhar Hussain Khawaja 4800 -38400.-38400-2 2-E-S Sugarcan-8 S/O Mola Bux Khawaja NIC NO:42000-3322713-9 4800. 19200 19200 4 Mr. Ayyaz Hussain S-O Mola-2-3-S(P) Sugarcan-4 Bux Khawaja NIC NO:41303-3324348-7 19200 -5 3-E(P) Sugarcan-4 4800.-19200.--do-33600 -Mr. Mazhar Hussain Khawaja 3-E-S Sugarcan-7 4800/-33600:-6. S/OHaji Mola Bux Khawaja NIC NO:41105-0247860-1 28800 -7 28800 -4800 -Aslam Hussain Khawaja S/O 3-4-S(P) Sugarcan-6 Faiz Muhammad NIC NO:41105-7068545-1 38400 -38400-Mr.Nizar Ali S/O Faiz 4-E-SSugarcan-8 4800 8. Muhammad Khawaja NIC NO:41105-9185884-3 4800-24000.-4) 240004 Mr. Nisar Ali Khawaja S/O 48.4 Sugarcan-5 Nawaz Ali Khawaja 5-1.(P)-S NIC NO:41105-8290014-1

1-

1-104/2014

10	Mr. Deedar Ali S/O Allah Dino Khawaja	4-5-S(P)	Sugarean-4	4800 -	19200 -	165(
11	NIC NO:41105-8196620-1 Mst: Shahnaz D/O Allah Dino Khawaja NIC NO:41105-8674676-0	5-1-5	Sugarcan-8	4800/-	384001-	384
	The rates	supply by	ALAO:Qanoc	ongo GSC H	ESCO Hyderaba	ad. from
DA /	khtiarkar (Revenue) Talhar is att /as above. Nos Crops Compensation Cases Original) along with relevant do			(<u> </u>	01/
DA / 11 N (In C	/as above.				T DIRECTOR	04/ 104/2014

•

•

ANNEXURE D: COMPENSATION PAYMENTS DETAILS OF 132 KV ARAIN ROAD-SUKKUR CITY TRANSMISSION LINE.

	1 	De	Cine.	K Nhy,	Asif SI	here Sb.			
						O_{-}		·	
	MC POL			·				1	
			1				in second as a second		
1	CERTIFIC STREET						OMPA	<u>783</u>	
	UFFICE	OF TH	E PRO	JECT DIRE	ECTOR G	SC SEPCO	SUKKUR		
	NO. PD/GSC SL/CO S	$\sim t$	733-	39			0-9-9		
	Balling In Acro	112412 221	derth tom	OFFICE (
	for distribution compa	(1,2) $(2,2)$	SCOSJ of .	Tistructions Jan-03 the s	NO: 2 to ti anction of f	he reference	of financial p	power book	
	delégation of financa: of crop compensation	PONCE	Revised	-2007), Socti	οη Χν, Sub	Section 15-3	is hereby acc	corded vide	
	STOP 132KV T LING ALAIN	Warne 1	·	, interact (on morridg	di Dasisj Erec	tion and Strip	naina work	
	Sect &G © Division GSC -	SCALO S	SUKKLA CI SUKKLA SI	197 Nopared No becomen	process &	submitted by	the Executiv	e Engineer	
	dated. 08.07.2014				Petter No	XEN/T&G/GS	C/SEPCO/SU	K/3035-37,	
C				•	r		· · · · · · · · ·		
s.	Name & Fathers name of			Name of	;	Bara		· · · · · · · · · · · · · · · · · · ·	1
#	Land owner with NIC No	$1 \cdot NO$	S NG	affected crop	Atea in ghunta	Rate as per	Crop wise compen	: Total Amount	
7	Mr. Ghulam Mustata				1	Ghunta	sation	(Rs)	Ĩ.
	S/O Muhammad Part a								1
	Bhutto 45504-04487::6-9	2	2312	Secondaria	9	4000	36000	1 20000 00	
2.	Mr: Ghulam Mustala				1		30000	36000.00	1
S*	S/O Muhammart Parts					the second se	1	<u> </u>	
	.Bhutto 45504-0448726-9		2.11	1005	2	16000	32000	32000-00	
ð. í	Mr. Ghulam Mustelle					4 1		52000 00	
	S/O Muhammad Prata					the second s	n de la companya. Na serie de la companya	en en en d'anne en	4
	Bhutto 45504-0448726-9	ć	23123	VE generale)	10	4000	40000	40000.00	
4 1	Mr. Ghulam Massar						1. T. A.		1.1
180 1	S/O Muhammad Trans Bhullo							· · · · · · · · · · · · · · · · · · ·	
4	45504-0448726 §		· • · · ·	an neadara	10	4000	40000	: 40000 00	;
5. A	Mr. Ghulam Masada			-	·				1.
	S/O Muhammari († 1947) Bliutta				[
4	15504-0448777		•	se set dous - s	9	4000	36000	36000 00	
N N	Ar: Ghulam Naissan					· · · · · ·			
B	NO Muhammad Para		. And	e. An an Arrent and a second					
× 4.	5504-044872000				10	4000	40000	40000.00	
M	Ir.AbdullHafeez S/C							1111	
4	hüləm Muslafa Dorge	14 M	$K_{1} \in$	er get state	8	4000	22460		
- L .	· · · · · · · · · · · · · · · · · · ·					4000	32000	32000.00	14 Å 11 Å
974) 1974	6 .				e e e astronomia. A		$X \rightarrow$		
X							- March	m	
17 (r 27 (r	c.c.to.						FAT DIRECT	or .	
1.	The Even					/ CIN	EPCO SUKK	UR	
$\gamma_{\rm s}$	The Executive Large set The Assistant Marade, The Assistant for a bar	i l'avalet avec e la	Develop	SSSC SEPCO	Sukkur,	L -			
	 The contraction in the second s			0 Sekar. ISC SEPCO S					

ANNEXURE E: COMPENSATION PAYMENTS DETAILS OF 132 KV DADU-MEHAR-LARKANA TRANSMISSION LINE.

1	de la la accordance vil 1 t		CE ORDI		fecence of	financial po	we book
	for also ibution companies (Discos) deltas on of financial povier (Revis	of Jan-03 ad 2007).	Section XV	solutione ro Sub Sect dividual ba	ion 15-18 wist for th	(NTDC), for c concrete &	
	Viceo compensation to the original work of 132KV Transmission Line / submitted by the Executive Engine KSN TNG/GSC/ SEPCO/SUK/1153-5	eed for Da er T&G ©	Division GS	878 BOA 140		or very service of the service of th	A REAL PROPERTY OF A READ PROPERTY OF A REAL PROPER
							Total
ł	Nome & Fathers name of Si ≠ Land owner with NIC No.	T/NO. S/No.	Name of affected crop	Area in ghunta	Rate as per Ghunta	Cropwise competi- sation	Amount (Re)
	Mr. Hr. Abdul Sattar Abro						$\overline{\mathbf{v}}$
1	Kiten 1 41203-4334534-3	<u>135/136</u> 80	Mirch	10	3720	37200	37200.00
	Mr. Abdul Sattar Abro						1/
	3/1. 5/0 Fluhammad Azeam 1817 - Khan 1 e1203-4334034-3	175 81	- Kirch	10	2720	37200	19200.04
	Mr. Fir. About Sattar Abro				2 2		\mathbf{b}
	5/0 Aubammad Azeem Khan 1/41203-4339634-3	136 80	<u> </u>	10	37,50	37500	<u>37300.00</u>
	Na: Multaminad Bachal sinn						\mathcal{L}
	Shaikh S/O Khaliq Dino mining Single States	266 465	Barseem Mirch	<u>6</u> 5	260 5500	1560	29000.00
	Cast Subambas Secolar				140 140		
	CALEFEO RUMA One-	- 268 - 469	Britsoom Flirch	5 6	260 3500-0		
			a Onlenk				

	7	Mr. Muhammad Jawaz Briet: S/O Rajio 41200-495(1842:7	17 	Loopen.		. 5000	15000.	15000.0
•		Mr. Nezeer Ahmed Khan S/O Muhammad Bux Khan 41205-2290951-5	22 197	Wreat	į.	1875	16875	16875,0
	9	Mr. Nazeer Ahmed Khan S/O Muhammad Bux Khan 41205-2290951-5	22 357	Wheat	2	1875		13125.0
	10	Mr. Nazeer Ahmed Knan S/O Muhammad Bux Khan 41205-2290951-5	26 279/1	Wheet		1875	15000	15000.0
	.10	Mr. Nazeer Ahmed Khan S/O Muhammad Bux Khan 41205-2290951-5	28 279/1	Wheat	9	1997 1997 1997 1997	16875	16875.0
	. 12	Mr. Zubair Ahmed S/O Sultan Ahmed Khan 41205-2282764-5	27 334	Wheat	12	977 1977	11700	11700.00
	, 11 ,	Mr. Zubal/ Ahmed S/O Sultan Ahmed Khan 41205-2282764-5	277 203	Lossen	5	5000	25000	< 25000.00
		Mst: Jannai W/O Tharo Khan Bhata 41205-6254953-4	25 384/1	Wheat	8	1875	15000	15000.00
		Msd Dannat W/O Tharo Khan Bratti 1205-6254953-4	28 275/1	Wheat	2 7 2	1875	18126	17125.00
		Mr. Indad Hussain S/O Civilam Hvder 17205-3370036-7 Mile	74 24	Liosian	4	3000	1000	Timon
) 1935			
				isti sa di Mani dipeta Mali sa di				

19	Mr. Muhammad Dauc S/O Khan Nuhammad Pankhar	\$5	Wheat		975	10725	17225.
	42401-1239224-9		Jowar		650	6500	
- 1	, страбля Вабак III и Алада Страба К. 1975 В. Подрежащий страна Сорода Сорода Сорода Сорода Сорода Сорода Сорода Подребо Сорода Сород Подребо Сорода Сород	411/2	Rath Cl San an ann ann ann an t-	<u></u>			and an experiment
	Mr. Abdul Kareem Udf Abdul						6
- 20	Qedir Si O Khanan Khan Urf M Khan	58	Wheat	10	9/5	9750	9750
	41203-9455828-7	197				i i i	
	nangang pangang tanén ing bangan né de ng kagi pa ng ang kabu kabu pantahan kada pantahan di kabuna di kabuna di Tanén kabuna di kabuna				Man an a	Les communes and an annual second	and the second second
21	Mr. Abdul Kareeni dif Abrui Qadir S/O Khanan Khan Uri M				1	· · · ·	1 6
.	Khan	88	Wheat	12	975	1700	11700
	41203-9455823-7	197					
	Mr. Al- Nawaz Khan S/O	1 • •				an a	موسسة بالمنابية. موجوع
22	Qurban Al-Khan Bhurgri	85	Wneat	10	975	9750	18750
	41203 1682993-5	315	Lossan	1	9000	3000	.
		<u> </u>		*			
23	Mr. Ali Newaz Khan S/O						
. بيند. ماد تشمير	Qurban Ali Khan Bhurgn	,84/85	W [⊬] eat	!2	975	11700	11700.0
	41203-1682993-5	,3,5					
24	Mr. Zulufigar S/O	() ()				•	i si si
	Munammad Ali Siyal	45	Onion	ç	1675	16875	16875.0
	41203-6007453-7	414			· · · · · · · · · · · · · · · · · · ·		
[*] 25	Mr. Zulufiqar S/O						<u>t</u>
22	Muhanimad All Siyai	-15	Wheat	10	975	9750	9750.C
	41203-6007453-7	467					
26	Mr. Aslam Khan S/O					1,000	<u>.</u>
26	Muhammad Ramzan Laghari	83	Wheat	6	975	585C	15225.0
	412055-980085-7	207	Onion	5	1875	9375	
	Mr. Aslam Khan S/O		1				+
27,	Mr. Aslam Khan S/O Muhammad Ramzan Laghari 412055-980086-7	83	Wheat	9	975	8775	8775.0
	412055-980086-7	207				*****	
-28	Mr. Ghuaim Ali S/O Rasool						
1-5	Bux Malkani 43203-1359937-1	19	Wheat		1250	13750	13750.0
		421/1					-
20	Mr. Ghuaim Ali S/O Rasool						17
150	Bux Malkani	- 19	Wheat	13	1250	16250	16250.0
	43203-1359937-1	421/1					
かわい	Nr. Muhammad Ayoub S/O Ghuaim Hyder Bhatti	21	Wheat	9	1875	16875	16875.0
	41205-8616151-3	360	TRIÇQL	3	10/3	7/05/3	1
							Nelsenski francis Dog sprach statistic
							free?

	i li in anna ann a an	ins i more second		ra in any an ch aing ana			بنيهم ويشتقنه والمعادم
31	Mr. Muhammad Avc 35 5/0						
	Ghualm Hyder Unatli	21	Wheat	7.	1875	13125	13125.0
	41205-8610151-3	350		1 de la composition d			
	And Market Barrier Bridge Barrier	مرف دی میشوند بر است. ا	, e manuel and a state of the s	n men i (₁₉₉ 0) de la composition		a sireinna aire sireinn	1 /
32	Mr. Il'ahl Bux S/Q Iroam Bux	. 42	Lossan	- 2	9000	18000	18000.00
	41205-9598303-1	164					
	аналанан байлай байлай байлан кайтайна кайтайнаа улуу улуу улуу улуу тал тал тал байлай байлан тал тал байлай Тал						- } Japanasaanin
33	Mr. Iliah Bux S/O Imam Bux					10000	10000 N
ي لو. ديدين مري	Dero	42	Lossan		9000	18000	18000.00
	41205-9898303-1	164			-		n na sa
34	Mr. Ali Nawaz Khan S/O				075	11700	LINK
-	Çurban Ali Khan	84	Wheat	12	975	11/00	ىلەكەر لىلايىدى يەرىپى بەر ئىلىدى بېرىكە يەرى تەر بىرىكەن ئ
	41203-1682993-5	333/4		معتقد العارير من من المعامل المراجع الم		NUMBER OF STREET, STREE	ning data bis in the internet of the
	Mr. Niaz Ali Knoso S/O Badal				4		ana an ina ang 1 973. Ng 1993 ng 1993
35	Khan	32	Wheat	12	975	11700	21700.00
	41205-5956413-9	179/2	Losson	2	5000	10000	na de persona de la compañía de la c
						and the second	
	Mr. Khan Muhammad S/O						~
36	Haji Ahmed Panwhar	93	Wheat	8	975	7800	20925.00
1991 - Alexandrois - 1997 - 19	41203-9380465-9	383/3	Onion	7	1875	13125	L
37	Mr. Ghulam Muhammad S/O						
7.37 8.43	Tharo Khan Bhatti	23	Losson	5	5000	25000	25000.00
ومعتبا وعدائهم	41205-2284582-3	384/1		-			
27 8 4	Mr. Muhammad Bachal S/O	•••••••••••••		• • • • • • • • • • • • • • • • • • •			
¹ 38	Dost Muhammad	86	Wheat	10	975	9750	18750.00
	41203-6151179-3	326/3	Losson	1	9000	9000	1
	Mr, Khan Muhammad Sariyo						8 .
- 39	S/O Sadulah	104	Onion	<u></u>	1875	3750	21750.00
	41203-3594788-5	605/1	Losson	2	9000	18000	. .
			.				÷
40	Mr. Saeed Anmed S/O Wahld	103	Dalas	r e	1875	9375	18150.00
	Bux Junejo	102	Onion Wheat	5 9	975	9373 8775	10120.00
 	41203-856871-5	554	YY ICAL	.			
	Mr. Noor Nabl S/O Haji						į.
(A),	Muhammad Sicique	114	Wheat	8	975	7800	17175.00
	6 41202-7374656-7	314	Onion	5	1875	9375	!
	Min Abdul Karim S/O Musammad Chuttal	112	Wheat	9	975	8775	13975.00
	7019 227	91	Jowar	8	650	5200	
		1	1 VOININ				

4	Mr. Hafiz Ghulam Qadir S/O Ghulamullah	93	Wheat	8			
	43202-3242698-5	109	YYNeer	.	1300	10400	10400.
45	Mr. Muhammad Uris S/O Macsood All	i 81	Wheat	8	1300	10400	10400.0
	43202-0406439-3	61					is Shehron
46	Mr. Niez All S/O Buxal Khan	81	Wheat	8	1300	10400	10400.0
	42201-1078219-5	131					
47	Mr. Niaz Ali S/O Buxal Khan	81	Wheat	8	1300	10400	10400.00
	42201-1078219-5	128					
48	Mr. Juman Mugheri S/O Ghulam Khan	82	Wheat	8	1300	10400	10400.00
	43202-6714086-3	122					
49	Mr. Juman Mugherl S/O Ghulam Khan	82	Wheat	8	1300	10400	10400 10
	43202-6714086-3	122					
50	Mr. Muhammad Ghulab S/O Gello Khan	82	Wheat	8	1300	10400.	
	43402-0363478-1	124/1					
51	Mir-Hafiz Ghulam Qadir S/O Ghulamullah	93	Wheat	10	1300	13000	13000.001
	5207-3342698-5	109					1.1.1.11
	Mr. Irfan Ali S/O Ihsan Ali Mohesar	239	Wheat	13	1875	24375	24375.00
	#1205-6007693-7	409					/
	Rickumar Shah Al2h2-1381500-9	177	Lossan	i l aire	18750	18750	18750.00

er (Dev) PMD SEPTO Soldion

ana per (Gradal Science Sukkur

ANNEXURE F : GRIEVANCE REDRESSAL MECHANISM

GRIEVANCE REDRESSAL MECHANISM

All stake holders, interested / affected persons and general public are notified that Hyderabad Electric Supply Company Limited (HESCO) in Districts of Larkana, Jacobabad, Shikarpur, Mehar, Dadu, Badin, Talhar, Sanghar, Kandiari and Mirpurkhas is carrying out work of construction of new Grid stations, extensions, augmentation and conversion of Grid Stations under ADB Tranche-II of following Sub-Projects.

- 1 Construction of New 132 kV Jacobabad-II Grid station and allied 132 kV Transmission Line.
- 2 Conversion of 66 kV Sukkur City Grid Station into 132 kV Grid Station and allied 132 kV Transmission Line.
- 3 Conversion of 66 kV Larkana Grid Station into 132 kV Grid Station and allied 132 kV Transmission Line.
- 4 Conversion of 66 kV Talhar Grid Station into 132 kV Grid Station and allied 132 kV Transmission Line.
- 5 Second Circuit Stringing of Sanghar-Kandiari-Mirpurkhas 132 kV Transmission Line.
- 6 Second Circuit Stringing of Shikarpur-Larkana 132 kV Transmission Line.
- 7 Construction of Larkana-Mehar-Dadu 132 kV Double Circuit Transmission Line (New).

All stake holders, interested / affected persons and general public are informed that if they have any kind of grievance related to the project work, they are requested to register their complaint along with their contact number in Environmental and Social Complaint Register which is already available at respective project site. Any action or mitigation measure shall be taken in minimum of 10 days and this would be informed to the complainant. For any further information, you can contact Environmental and Social Cell HESCO.

1. J. 1. S.

1. Dy. Manager (Environment & Social Safeguard)

PMU HESCO Hyderabad Mobile: 0340-8886066

2. Assistant Manager (Social Impact)

PMU HESCO Hyderabad Mobile: 0340-8886072

ANNEXURE G: GRIEVANCE REDRESSAL COMMITTEE

•

11		
K	HYDERABAD ELECTRIC SU	DIVCOMDANY
SCO	BUNGATOW NO A-1 HESCO POWER WING COLONY	
	hesco.gov.pk Phone No.022-926 00	070, Fax No.022-9260525
No Cel	and the management of the state	Dated: */09/2013
	OFFICE ORDER	
	The Unevance Redresse Committee Compo	ising the following is hereby
the second second	ubra ta Palari Distribution & Enhancement in	estment Project under Asian
Conde	provent Project and Electricity Distribution &	Transmission Improvement
	া দেশ হোৱা পাই পাই হাইছিল এই চেপাই জিন্দাই	
	and a state of the	
14	Arabagan (Propurament) Phot	Convener
1. m. 1 M	Orduna Maraper (8888) PMG	Member
3	Land Acausticon Officer	Member
4	SCO (Conderned T/L or G/C)	Member
15°	Assit Manager (Social Impact) Altu	Member/Secretary
\$	Environment & Spele Inspector (Consultant)	Member
7	Community Representative	Member
	11. second s Second second	
	The committee will be responsible to add	그는 것 같은 것 같
	ity. Land owners and squatters during the di	
	a Adduksition, Resettlement Issues, Compensa	
Resett	lement Framework & Land Acquisition & Reset	tlement Plan).
		((IIII) N /
		Mu _ way
		Chief Engineer (DEV) HU, HESCO Hyderabad
	그는 말에 있는 것이 아니는 것을 알고 있는 것이 같아. 이 이 가지 않는 것이 많은 것이 많은 것이 많이 없다.	
		노동 한 그는 부산은 방송은 동안에서 관람을 만들었다. 것이
Co		
1	Project Director GSC, HESCO, Hyderabad	
	Project Director GSC, SEPCO, Sukkur	
	Project Director GSC, SEPCO, Sukkur XEN (GC), HESCO, Hyderabad. XEN (TL) HESCO, Hyderabad	
2	Project Director GSC, SEPCO, Sukkur	

ANNEXURE H : CONSULTATION PICTURES

Consultation at 132 Jacobabad Grid Station with Mr. Ali Dost Golato landlord of tower No. 4 and 5. He is satisfied with the restoration of tower sites.



The land is supremely used for agriculture after restoration at Jacobabad site





Consultation near 132 Sukkur Grid Station with Mr. Hafeez Bhutto landlord of tower No. 4. He is satisfied with the restoration of tower sites

Restoration of Shikarpur Larkana transmission line



